Nonlinear Functional Analysis and Applications Vol. 30, No. 2 (2025), pp. 625-646 ISSN: 1229-1595(print), 2466-0973(online)

https://doi.org/10.22771/nfaa.2025.30.02.20 http://nfaa.kyungnam.ac.kr/journal-nfaa



APPROXIMATE OF HOMOMORPHISM AND DERIVATIONS ON BANACH ALGEBRA VIA DIRECT AND FIXED POINT METHOD

Mohammed Salih Sabah¹ and Shaymaa Alshybani²

¹Department of Mathematics, College of Science, University of Al-Qadisiyah, Diwaniyah, Iraq e-mail: sci.math.mas.23.4@qu.edu.iq

²Department of Mathematics, College of Science, University of Al-Qadisiyah, Diwaniyah, Iraq e-mail: shaymaa.farhan@qu.edu.iq

Abstract. This study examines the approximation of homomorphism and derivations associated with the functional equation:

f(2x+y) + f(2x-y) = f(x+y) + f(x-y) + 2f(2x) + 2f(x).

In the context of Banach algebras spaces, utilizing the direct and fixed-point methods.

1. INTRODUCTION

A functional equation F is considered stable if any solution f is approximately close to an exact solution.

Starting from Ulam's question on stability posed in 1940 [17] during a mathematical colloquium at the University of Wisconsin. Hyers [10] was the first author to provide an answer to Ulam's question in Banach spaces. The result of Hyers was extended by Aoki [6] and also by Rassias [14] by considering the unbounded Cauchy differences. Following this, many mathematicians began conducting studies and achieving results related to the subject due to its importance and applications in various fields such as functional analysis, algebra,

⁰Received October 23, 2024. Revised January 5, 2025. Accepted January 7, 2025.

⁰2020 Mathematics Subject Classification: 39B52, 39B72, 39B82.

⁰Keywords: Stability, Banach algebra, homomorphism, derivation.

 $^{^0\}mathrm{Corresponding}\ author:$ S. Alshybani (shaymaa.farhan@qu.edu.iq).

number theory, as well as practical applications in engineering, physics, and economics.

Using different methods, the most prominent methods of stability are the direct method and the fixed-point method. Mathematicians have proved the stability of functional equations in multiple spaces and obtained generalized and interesting results. Referring to both methods, we have selected some papers that present results related to the subject [1, 2, 4, 5, 8, 11, 12, 16, 18] and [15].

In this paper, we studied the stability of the additive functional equation

$$f(2x+y) + f(2x-y) = f(x+y) + f(x-y) + 2f(2x) + 2f(x).$$
(1.1)

Furthermore, we discussed the homomorphism and derivation of the previous functional equation in a Banach algebra space in the case of the function being odd, and we reached valuable results and good conclusions, whether by the direct method or the fixed point method.

2. Preliminaries

Definition 2.1. ([3]) Let X be a real vector space, which is called Banach algebra if the following axioms are satisfied:

- (1) X is a Banach space,
- (2) X is an algebra,
- (3) there exist $a \in X$ such that ax = xa = x for all $x \in X$ and ||a|| = 1,
- (4) $||xy|| \le ||x|| ||y||$ for all $x, y \in X$.

Definition 2.2. ([7]) Let X, Y be Banach algebras. A real linear mapping $H : X \to Y$ is said to be a homomorphism if H(xy) = H(x)H(y) for all $x, y \in X$.

Definition 2.3. ([7]) Let X, Y be Banach algebras. A real linear mapping $\delta : X \to Y$ is said to be a derivation if $\delta(xy) = \delta(x) y + x\delta(y)$ for all $x, y \in X$.

Definition 2.4. ([9]) Let X be a set. A function $d: X \times X \to [0, \infty]$ is called a generalized metric on X if,

- (1) d(p,q) = 0 if and only if p = q,
- (2) d(p,q) = d(q,p) for all $p,q \in X$,
- (3) $d(p,s) \leq d(p,q) + d(q,s)$ for all $p,q,s \in X$.

Theorem 2.5. ([9]) Let (X, d) be a complete generalized metric space, and let $J : X \to X$ be a strictly contractive mapping with the Lipschitz constant L < 1. Then, for each $x \in X$, either

$$d\left(J^n x, J^{n+1} x\right) = +\infty$$

for all $n \ge 0$ or there exists a natural number n_0 such that

- (1) $d(J^n x, J^{n+1} x) < +\infty$ for all $n \ge n_0$,
- (2) The sequence $\{J^n x\}$ is convergent to a fixed point y^* of J,
- (3) y^* is the unique fixed point of J in the set $Y = \{y \in X, d(J^{n_0}x, y) < \infty\}$,
- (4) $d(y, y^*) \le \frac{1}{1-L} d(y, Jy)$ for all $x, y \in Y$.

3. Stability of functional equation (1.1) using the direct method

Theorem 3.1. Let A, B be two Banach algebra spaces, and let $f : A \to B$ be an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$. Suppose the functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that

$$\sum_{i=0}^{\infty} \frac{\theta\left(3^{i}x, 3^{i}y\right)}{3^{i}} < \infty \text{ for all } x, y \in A,$$
(3.1)

$$\lim_{n \to \infty} \frac{\theta(3^n x, 3^n y)}{3^n} = 0 \text{ for all } x, y \in A,$$
(3.2)

$$\|D_f(x,y)\|_B \le \theta(x,y) \text{ for all } x,y \in A,$$
(3.3)

where

$$D_{f}(x,y) = f(2x+y) + f(2x-y) - f(x+y) - f(x-y) - 2f(2x) - 2f(x),$$

$$\|f(xy) - f(x)f(y)\|_{B} \le \zeta(x,y), \text{ for all } x, y \in A,$$
 (3.4)

$$\lim_{m \to \infty} \frac{1}{3^{2m}} \zeta \left(3^m x, 3^m y \right) = 0.$$
 (3.5)

Then there exists a unique homomorphism $H: A \to B$ such that

$$\|f(x) - H(x)\|_{B} \le \frac{1}{3} \sum_{i=0}^{\infty} \frac{\theta\left(3^{i}x, 3^{i}x\right)}{3^{i}}.$$
(3.6)

Proof. If x = y in (3.3)

$$D_{f}(x,x) = f(3x) - 3f(x),$$

we get

$$||D_{f}(x,x)|| = ||f(3x) - 3f(x)|| \le \theta(x,x)$$

and

$$\left\|\frac{f(3x)}{3} - f(x)\right\| \le \frac{1}{3} \theta(x, x).$$

$$(3.7)$$

Since

$$\frac{f(3^{n}x)}{3^{n}} - f(x) = \sum_{i=0}^{n-1} \left(\frac{f(3^{i+1}x)}{3^{i+1}} - \frac{f(3^{i}x)}{3^{i}} \right),$$

Mohammed Salih Sabah and Shaymaa Alshybani

$$\begin{split} \left\| \frac{f\left(3^{n}x\right)}{3^{n}} - f\left(x\right) \right\| &\leq \left\| \frac{f\left(3x\right)}{3} - f\left(x\right) \right\| + \left\| \frac{f\left(3^{2}x\right)}{3^{2}} - \frac{f\left(x\right)}{3} \right\| \\ &+ \dots + \left\| \frac{f\left(3^{n}x\right)}{3^{n}} - \frac{f\left(3^{n-1}x\right)}{3^{n-1}} \right\| \\ &\leq \frac{1}{3} \ \theta\left(x, x\right) + \frac{1}{3^{2}} \theta\left(3x, 3x\right) + \dots + \frac{1}{3^{n}} \ \theta\left(3^{n-1}x, 3^{n-1}x\right) \right] \end{split}$$

Hence, we have

$$\left\|\frac{f(3^{n}x)}{3^{n}} - f(x)\right\| \le \frac{1}{3} \sum_{i=0}^{n-1} \frac{\theta\left(3^{i}x, 3^{i}x\right)}{3^{i}}.$$
(3.8)

Now, there exist $k \in \mathbb{N}$ such that for all $m \ge n \ge k$,

$$\left\|\frac{f\left(3^{n+m}x\right)}{3^{n+m}} - \frac{f\left(3^{m}x\right)}{3^{m}}\right\| = \frac{1}{3^{m}} \left\|\frac{f\left(3^{n+m}x\right)}{3^{n}} - f\left(3^{m}x\right)\right\|$$
$$\leq \frac{1}{3}\sum_{i=0}^{n-1} \frac{\theta\left(3^{i+m}x, 3^{i+m}x\right)}{3^{i+m}}.$$
(3.9)

Letting $m \to \infty$, we have

$$\left\|\frac{f(3^{n+m}x)}{3^{n+m}} - \frac{f(3^mx)}{3^m}\right\| \to 0.$$

Hence, $\left\{\frac{f(3^m x)}{3^m}\right\}$ is a Cauchy sequence in *B*. Since *B* is a complete space, the sequence $\left\{\frac{f(3^m x)}{3^m}\right\}$ is convergent. Set $H(x) = \lim_{m \to \infty} \frac{f(3^m x)}{3^m}$. By [11], *f* is an additive mapping and also is homogenous. Then *f* is linear and by (3.4) is approximately homomorphism.

$$H(x+y) = \lim_{m \to \infty} \frac{f(3^m(x+y))}{3^m}$$
$$= \lim_{m \to \infty} \left(\frac{f(3^m x)}{3^m} + \frac{f(3^m y)}{3^m}\right)$$
$$= \lim_{m \to \infty} \frac{f(3^m x)}{3^m} + \lim_{m \to \infty} \frac{f(3^m y)}{3^m}$$
$$= H(x) + H(y),$$

$$H(\lambda x) = \lim_{m \to \infty} \frac{f(3^m \lambda x)}{3^m} = \lambda \lim_{m \to \infty} \frac{f(3^m x)}{3^m} = \lambda H(x)$$

and

$$\begin{aligned} \left\| H\left(xy\right) - H\left(x\right) H\left(y\right) \right\| \\ &= \left\| \lim_{m \to \infty} \left(\frac{f\left(3^{2m}\left(xy\right)\right)}{3^{2m}} \right) - \lim_{m \to \infty} \left(\frac{f\left(3^{m}x\right)}{3^{m}} \right) \lim_{m \to \infty} \left(\frac{f\left(3^{m}y\right)}{3^{m}} \right) \right\| \\ &= \left\| \lim_{m \to \infty} \left(\frac{f\left(3^{2m}\left(xy\right)\right)}{3^{2m}} - \frac{f\left(3^{m}x\right)}{3^{m}} \frac{f\left(3^{m}y\right)}{3^{m}} \right) \right\| \\ &= \left\| \lim_{m \to \infty} \frac{1}{3^{2m}} \left(f\left(3^{2m}\left(xy\right)\right) - f\left(3^{m}x\right) f\left(3^{m}y\right) \right) \right\| \\ &= \left\| \lim_{m \to \infty} \frac{1}{3^{2m}} \left(f\left(3^{2m}\left(xy\right)\right) - f\left(3^{m}x\right) f\left(3^{m}y\right) \right) \right\| \\ &\leq \lim_{m \to \infty} \frac{1}{3^{2m}} \zeta\left(3^{m}x, 3^{m}x\right) \\ &= 0. \end{aligned}$$
(3.10)

Therefore, ||H(xy) - H(x)H(y)|| = 0, it implies that H(xy) = H(x)H(y). Hence H is homomorphism. In (3.8), taking $n \to \infty$

$$||H(x) - f(x)|| \le \frac{3}{2} \sum_{i=0}^{\infty} \theta(3^{i}x, 3^{i}x).$$

Since

$$\frac{3}{2}=\sum_{i=0}^{\infty}\frac{1}{3^i},$$

$$\begin{aligned} \|H\left(2x+y\right) + H\left(2x-y\right) - H\left(x+y\right) - H\left(x-y\right) - 2H\left(2x\right) - 2H\left(x\right)\| \\ &= \lim_{n \to \infty} \left\| \frac{f(3^{n}(2x+y))}{3^{n}} + \frac{f(3^{n}(2x-y))}{3^{n}} - \frac{f(3^{n}(x+y))}{3^{n}} - \frac{f(3^{n}(x-y))}{3^{n}} - \frac{2f(3^{n}2x)}{3^{n}} - \frac{2f(3^{n}x)}{3^{n}} \right\| \\ &\leq \lim_{n \to \infty} \frac{1}{3^{n}} \theta\left(3^{n}x, 3^{n}x\right) \\ &= 0. \end{aligned}$$
(3.11)

We get H satisfies the functional equation (1.1).

Now, we want to prove that H is a unique homomorphism. Assume that there exists another one denoted by $\hat{H} : A \to B$ such that \hat{H} satisfies the functional equations (1.1) and (3.8).

Let

$$H(x) = \lim_{m \to \infty} \frac{g(3^m x)}{3^m}.$$

Then, we have

$$\begin{aligned} \left\| H\left(x\right) - H\left(x\right) \right\| &= \left\| \frac{H(3^{m}x)}{3^{m}} - \frac{H(3^{m}x)}{3^{m}} \right\| \\ &= \frac{1}{3^{m}} \left\| H\left(3^{m}x\right) - H(3^{m}x) \right\| \\ &\leq \frac{1}{3^{m}} \left\| \left(H\left(3^{m}x\right) - f\left(3^{m}x\right) \right\| + \left\| f\left(3^{m}x\right) - H\left(3^{m}x\right) \right\| \right). \end{aligned}$$

Letting $m \to \infty$,

$$\|H(x) - H(x)\| \le \frac{1}{3} \left(\sum_{i=0}^{\infty} \frac{\theta\left(3^{i+m}x, 3^{i+m}x\right)}{3^{i+m}} + \sum_{i=0}^{\infty} \frac{\theta\left(3^{i+m}x, 3^{i+m}x\right)}{3^{i+m}} \right) \to 0.$$
Hence, $\|H(x) - H(x)\| = 0$, this implies $|H(x) = H(x)$.

Hence, ||H(x) - H(x)|| = 0, this implies H(x) = H(x).

Corollary 3.2. Let λ, β be nonnegative real numbers. Let odd function f: $A \to B$ satisfies the inequality $\|D_f(x, x)\|_B \leq \lambda$ for all $x, y \in A$ and $\|f(xy)\|_B \leq \lambda$ $-f(x) f(y)||_B \leq \beta$ for all $x, y \in A$. Then there exists a unique homomorphism

$$||H(x) - f(x)|| \le \frac{\lambda}{2}$$
 for all $x \in A$.

Proof. In the Theorem 3.1, taking

ζ

$$\theta(x, y) = \lambda,$$

 $(x, y) = \beta$ for all $x, y \in A,$

then the result is immediate.

Corollary 3.3. Let p, δ be nonnegative real numbers. Let an odd function f: $A \to B$ satisfies the inequality $\|D_f(x,y)\| \leq \delta \left(\|x\|^p + \|x\|^p\right)$ for all $x, y \in A$, and $\|f(xy) - f(x)f(y)\| \leq x^p + y^p$ for all $x, y \in A$. Then there exists a unique homomorphism $H: A \to B$ such that

$$\|H(x) - f(x)\| \le \frac{2\delta}{3 - 3^p} \text{ for all } x \in A.$$

Proof. In the Theorem 3.1, taking

$$\begin{aligned} \theta \left(x, y \right) &= \delta \left(\|x\|^p + \|y\|^p \right) \text{ for } p < 1, \\ \zeta \left(x, y \right) &= \|x\|^p + \|y\|^p, \ p < 2 \text{ for all } x, y \in A. \end{aligned}$$

then the result is immediate.

Theorem 3.4. Let A, B be two Banach algebra spaces, and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$. Suppose the functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that

$$\sum_{i=0}^{\infty} \frac{\theta\left(3^{i}x, 3^{i}y\right)}{3^{i}} < \infty \text{ for all } x, y \in A,$$
(3.13)

$$\|D_f(x,y)\|_B \le \theta(x,y) \text{ for all } x, y \in A,$$
(3.14)

$$\lim_{n \to \infty} \frac{\theta \left(3^n x, 3^n y\right)}{3^n} = 0, \tag{3.15}$$

$$\|f(xy) - xf(y) - yf(x)\|_{B} \le \zeta(x, y) \text{ for all } x, y \in A,$$
(3.16)

$$\lim_{m \to \infty} \frac{1}{3^{2m}} \zeta \left(3^m x, 3^m y \right) = 0.$$
(3.17)

Then there exists a unique derivation $\delta: A \to B$ such that

$$\|f(x) - \delta(x)\|_{B} \le \frac{1}{3} \sum_{i=0}^{\infty} \frac{\theta\left(3^{i}x, 3^{i}x\right)}{3^{i}}.$$
(3.18)

Proof. We will suffice with the proof derivation and the rest is easy according to the Theorem 3.1,

$$\begin{split} \|\delta(xy) - x\delta(y) - y\delta(x)\| \\ &= \left\| \lim_{m \to \infty} \left(\frac{f\left(3^{2m}\left(xy\right)\right)}{3^{2m}} - \frac{3^{m}xf\left(3^{m}y\right)}{3^{2m}} - \frac{3^{m}yf\left(3^{m}x\right)}{3^{2m}} \right) \right\| \\ &= \lim_{m \to \infty} \frac{1}{3^{2m}} \left\| f\left(3^{2m}\left(xy\right)\right) - 3^{m}xf\left(3^{m}y\right) - 3^{m}yf\left(3^{m}x\right) \right\| \\ &\leq \lim_{m \to \infty} \frac{1}{3^{2m}} \zeta\left(3^{m}x, 3^{m}y\right) \\ &= 0. \end{split}$$
(3.19)

Hence, $\|\delta(xy) - x\delta(y) - y\delta(x)\| = 0$, it implies $\delta(xy) = x\delta(y) + y\delta(x)$. So, we have δ is derivation.

Theorem 3.5. Let A, B be two Banach algebra spaces, and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in R$. Suppose the functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that

$$\sum_{i=1}^{\infty} 3^{i} \theta\left(\frac{x}{3^{i}}, \frac{y}{3^{i}}\right) < \infty \text{ for all } x, y \in A,$$
(3.20)

Mohammed Salih Sabah and Shaymaa Alshybani

$$\lim_{n \to \infty} 3^n \theta\left(\frac{x}{3^n}, \frac{y}{3^n}\right) = 0 \text{ for all } x, y \in A,$$
(3.21)

$$||D_f(x,y)||_B \le \theta(x,y) \text{ for all } x, y \in A,$$
(3.22)

$$||f(xy) - f(x)f(y)||_B \le \zeta(x,y) \text{ for all } x, y \in A,$$
 (3.23)

$$\lim_{m \to \infty} 3^{2m} \zeta \left(\frac{x}{3^m}, \frac{y}{3^m} \right) = 0.$$

Then there exists a unique homomorphism $H: A \to B$ such that

$$f(x) - H(x) \le \sum_{i=1}^{\infty} 3^i \theta\left(\frac{x}{3^i}, \frac{x}{3^i}\right).$$
(3.24)

Proof. This theorem can be readily demonstrated utilizing the same way to the Theorem 3.1. $\hfill \Box$

Theorem 3.6. Let A, B be two Banach algebra spaces, and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in R$. Suppose the functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that

$$\sum_{i=1}^{\infty} 3^{i} \theta\left(\frac{x}{3^{i}}, \frac{y}{3^{i}}\right) < \infty \text{ for all } x, y \in A,$$
(3.25)

$$\lim_{n \to \infty} 3^n \theta\left(\frac{x}{3^n}, \frac{y}{3^n}\right) = 0 \text{ for all } x, y \in A,$$
(3.26)

$$||D_f(x,y)||_B \le \theta(x,y) \text{ for all } x, y \in A,$$
(3.27)

$$\|f(xy) - xf(y) - yf(x)\|_{B} \le \zeta(x, y) \text{ for all } x, y \in A,$$
(3.28)

$$\lim_{m \to \infty} 3^{2m} \zeta\left(\frac{x}{3^m}, \frac{y}{3^m}\right) = 0.$$

Then there exists a unique derivation $\delta: A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \sum_{i=1}^{\infty} 3^i \theta\left(\frac{x}{3^i}, \frac{x}{3^i}\right).$$
 (3.29)

Proof. This theorem can be readily demonstrated utilizing the same way to the Theorem 3.4. $\hfill \Box$

Approximate of homomorphism and derivations on Banach algebra

4. Stability of functional equation (1.1) USING FIXED POINT METHOD

Theorem 4.1. Let A, B be two Banach algebra spaces, and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$. Suppose functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that for all $x \in A, m \in \mathbb{R}$ there exists L < 1 with $\theta(mx, mx) \leq mL\theta(x, x)$,

$$\|D_f(x,y)\|_B \le \theta(x,y) \text{ for all } x,y \in A,$$

$$(4.1)$$

where

$$D_{f}(x,y) = f(2x+y) + f(2x-y) - f(x+y) - f(x-y) - 2f(2x) - 2f(x),$$

$$\|f(xy) - f(x)f(y)\|_{B} \le \zeta(x,y) \text{ for all } x, y \in A,$$
(4.2)

$$\lim_{n \to \infty} \frac{1}{3^{2n}} \zeta \left(3^n x, 3^n y \right) = 0.$$
(4.3)

Then there exists a unique homomorphism $H: A \to B$ such that

$$\|f(x) - H(x)\|_{B} \le \frac{1}{3 - 3L}\theta(x, x).$$
(4.4)

Proof. If x = y in (4.1), then

$$D_{f}(x,x) = f(3x) - 3f(x),$$

we get

$$||D_f(x,x)|| = ||f(3x) - 3f(x)|| \le \theta(x,x)$$

and

$$\left\|\frac{f(3x)}{3} - f(x)\right\| \le \frac{1}{3} \theta(x, x).$$
(4.5)

Let the set $X = \{g : A \to B\}$ and introduce the generalized metric on X,

$$d(p,q) = \inf \left\{ c \in \mathbb{R}^+ : \| p(x) - q(x) \|_B \le c\theta(x,x), \ \forall x \in A \right\}$$

Then (X, d) is complete by [8]. Let $J: X \to X$ be a linear mapping such that

$$J(p(x)) = \frac{p(3x)}{3} \text{ for all } x \in A$$

and

$$||J(f(x)) - f(x)||_B \le \frac{1}{3} \theta(x, x) \text{ for all } x \in A.$$

Then

$$d(Jf,f) \le \frac{1}{3}.$$

Let $f, H \in X$. Then,

$$\|f(x) - H(x)\|_{B} \le \theta(x, x),$$

$$d\left(f,H\right)=1,$$

$$\|J(f(x)) - J(H(x))\|_{B} = \left\|\frac{f(3x)}{3} - \frac{H(3x)}{3}\right\|.$$

Therefore,

$$\frac{1}{3} \|f(3x) - H(3x)\| \le \frac{1}{3} \theta(3x, 3x)$$
$$\le \frac{1}{3} 3L\theta(x, x)$$
$$= L\theta(x, x).$$

Then $d(Jf, JH) \leq L$ it implies

$$d(Jf, JH) \le Ld(f, H). \tag{4.6}$$

(1) H is fixed point of J, that is,

$$J(H(x)) = H(x),
\frac{H(3x)}{3} = H(x),
H(3x) = 3H(x).$$
(4.7)

Hence, for all $x \in A$, the H is a unique fixed point of J in the set

$$Y = \left\{ g \in X : d\left(f, g\right) < \infty \right\}.$$

Therefore, there exists $c \in (0, \infty)$ such that d(f, H) < c. Hence,

$$f(x) - H(x)_B \le c\theta(x, x) \text{ for all } x \in A.$$
(4.8)

(2) $d(J^n f, H) \to 0$ as $n \to \infty$ this implies the equality

$$\lim_{n \to \infty} \frac{f(3^n x)}{3^n} = H(x) \text{ for all } x \in A.$$
(4.9)

(3)

$$\begin{split} d\left(f,H\right) &\leq \frac{1}{1-L} d\left(f,Jf\right), \\ d\left(f,H\right) &\leq \frac{1}{1-L} \frac{1}{3}, \end{split}$$

that is,

$$d(f,H) \leq \frac{1}{3-3L}.$$

Hence,

$$\|f(x) - H(x)\|_{B} \le \frac{1}{3 - 3L}\theta(x, x).$$
(4.10)

Using the same method as in Theorem 3.1, H satisfies the functional equation (1.1).

Corollary 4.2. Assume that r < 1, m > 1 and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le ||x||^r + ||y||^r, r < 1 \text{ for all } x, y \in A$$

and

$$||f(xy) - f(x)f(y)||_B \le ||x||^r . ||y||^r, \ r < 1 \ for \ all \ x, y \in A$$

Then there exists a unique homomorphism $H: A \rightarrow B$ such that

$$||f(x) - H(x)||_B \le \frac{2}{3 - 3L} ||x||^r$$

Proof. In the Theorem 4.1, if we choose

$$\begin{aligned} \theta \left(x, y \right) &= \| x \|^r + \| y \|^r, \ r < 1 \ \text{for all} \ x, y \in A, \\ \zeta \left(x, y \right) &= \| x \|^r \cdot \| y \|^r, \ r < 1 \ \text{for all} \ x, y \in A, \end{aligned}$$

then the result will be achieved when $L \ge m^{r-1}$, m > 1, r < 1.

Corollary 4.3. Let m > 1 and $f : A \to B$ be an odd mapping, and f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le \frac{1}{||x|| + ||y||}$$
 for all $x, y \in A$,

and

$$|f(xy) - f(x)f(y)||_B \le \frac{1}{||x|| + ||y||}$$
 for all $x, y \in A$.

Then there exists a unique homomorphism $H: A \rightarrow B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{3 - 3L} \frac{1}{2||x||}.$$

Proof. In the Theorem 4.1, if we choose

$$\theta(x,y) = \frac{1}{\|x\| + \|y\|} \text{ for all } x, y \in A,$$

$$\zeta(x,y) = \frac{1}{\|x\| \cdot \|y\|} \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^2}, m > 1$.

Corollary 4.4. Let r > 0, m > 1 and let $f : A \to B$ be an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{\|x\|}{\|y\|^r}, \ r > 0 \ for \ all \ x, y \in A,$$
$$\|f(xy) - f(x) \ f(y)\|_B \le \frac{\|x\|}{\|y\|^r}, \ r > 0 \ for \ all \ x, y \in A.$$

635

Then there exists a unique homomorphism $H: A \to B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{3 - 3L} \frac{||x||}{||y||^r}$$

Proof. In the Theorem 4.1, if we choose

$$\begin{aligned} \theta\left(x,y\right) &= \frac{\|x\|}{\|y\|^r}, r > 0 \text{ for all } x, y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\|}{\|y\|^r}, r > 0 \text{ for all } x, y \in A, \end{aligned}$$

then the result will be achieved when $L \ge \frac{1}{m^r}, m > 1, r > 0.$

Corollary 4.5. Assume that r < 1, 0 < m < 1 and let $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le ||x|| \cdot ||y||$$
 for all $x, y \in A$.

$$\|f(xy) - f(x)f(y)\|_B \le \|x\|^r \cdot \|y\|^r, \ r < 1 \ for \ all \ x, y \in A.$$

Then there exists a unique homomorphism $H: A \to B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{3 - 3L} ||x||^2.$$

Proof. In the Theorem 4.1, if we choose

$$\theta(x,y) = \|x\| \|y\| \text{ for all } x, y \in A,$$

$$\zeta(x,y) = ||x||^r . ||y||^r, r < 1 \text{ for all } x, y \in A_s$$

then the result will be achieved when $L \ge m^2$, 0 < m < 1.

Corollary 4.6. Let m > 1, and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{\|x\|.\|y\|}{\|x\|^r + \|y\|^r}, \ r > 1 \ for \ all \ x, y \in A,$$

$$||f(xy) - f(x)f(y)||_B \le \frac{||x|| + ||y||}{||x||^r + ||y||^r}, \ r > 0 \ for \ all \ x, y \in A.$$

Then there exists a unique homomorphism $H: A \to B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{3 - 3L} \frac{||x||^2}{2||x||^r}$$

636

Proof. In the Theorem 4.1, if we choose

$$\begin{aligned} \theta\left(x,y\right) &= \frac{\|x\| \cdot \|y\|}{\|x\|^r + \|y\|^r}, \ r > 1 \ \text{ for all } x, y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\| + \|y\|}{\|x\|^r + \|y\|^r}, \ r > 0 \ \text{ for all } x, y \in A, \end{aligned}$$

then the result will be achieved when $L \ge \frac{1}{m^{r-1}}, m > 1, r > 1$, because

$$\frac{\|mx\| \cdot \|mx\|}{\|mx\|^r + \|mx\|^r} \le mL\frac{\|x\|^2}{2\|x\|^r},$$
$$\frac{1}{m^{r-1}} \le L$$

and

$$\lim_{n \to \infty} \frac{1}{3^{2n}} \zeta \left(3^n x, 3^n y \right) = \lim_{n \to \infty} \frac{1}{3^{2n}} \frac{\|3^n x\| + \|3^n y\|}{\|3^n x\|^r + \|3^n y\|^r} = 0.$$

Theorem 4.7. Let A, B be two Banach algebra spaces, and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$. Suppose functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that for all $x \in A, m \in \mathbb{R}$, there exists L < 1, where $\theta(mx, mx) \leq mL\theta(x, x)$,

$$\|D_f(x,y)\|_B \le \theta(x,y) \text{ for all } x, y \in A,$$

$$(4.11)$$

$$\|f(xy) - xf(y) - yf(x)\|_B \le \zeta(x,y) \text{ for all } x, y \in A$$

$$(4.12)$$

and

$$\lim_{n \to \infty} \frac{1}{3^{2n}} \zeta \left(3^n x, 3^n y \right) = 0.$$
(4.13)

Then there exists a unique derivation $\delta : A \to B$ such that

$$\|f(x) - \delta(x)\|_{B} \le \frac{1}{3 - 3L} \theta(x, x).$$
(4.14)

Proof. Same method as the previous theorem, only we prove that δ is derivation.

$$\begin{aligned} \|\delta(xy) - x\delta(y) - y\delta(x)\| \\ &= \left\| \lim_{n \to \infty} \left(\frac{f\left(3^{2n}\left(xy\right)\right)}{3^{2n}} - \frac{3^{n}xf\left(3^{n}y\right)}{3^{2n}} - \frac{3y^{n}f\left(3^{n}x\right)}{3^{2n}} \right) \right\| \\ &= \lim_{n \to \infty} \frac{1}{3^{2n}} \left\| \left(f\left(3^{2n}\left(xy\right)\right) - 3^{n}xf\left(3^{n}y\right) - 3y^{n}f\left(3^{n}x\right) \right) \right\| \\ &\leq \lim_{n \to \infty} \frac{1}{3^{2n}} \zeta(3^{n}x, 3^{n}x) = 0. \end{aligned}$$

$$(4.15)$$

Hence, we have

$$\delta(xy) = x\delta(y) + y\delta(x).$$

Then δ is derivation.

Corollary 4.8. Assume that r < 1, m > 1 and $f : A \to B$ be an odd mapping, and f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \|x\|^r + \|y\|^r, \ r < 1 \ for \ all \ x, y \in A,$$

$$||f(xy) - xf(y) - yf(x)||_B \le ||x||^r \cdot ||y||^r, \ r < 1 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \frac{2}{3 - 3L} \|x\|^r$$

Proof. In the Theorem 4.7, if we choose

$$\theta(x,y) = ||x||^r + ||y||^r, \ r < 1 \text{ for all } x, y \in A,$$

$$\zeta(x,y) = ||x||^r \cdot ||y||^r, \ r < 1 \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge m^{r-1}, m > 1, r < 1.$

Corollary 4.9. Let m > 1, and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{1}{\|x\| + \|y\|} \quad \text{for all } x, y \in A,$$
$$\|f(xy) - xf(y) - yf(x)\|_B \le \frac{1}{\|x\| + \|y\|} \quad \text{for all } x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \frac{1}{3 - 3L} \frac{1}{2x}.$$

Proof. In the Theorem 4.7, if we choose

$$\theta(x,y) = \frac{1}{\|x\| + \|y\|} \text{ for all } x, y \in A,$$

$$\zeta(x,y) = \frac{1}{\|x\| \cdot \|y\|} \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^2}, m > 1$.

638

Corollary 4.10. Let m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le \frac{||x||}{||y||^r}, \ r > 0 \ for \ all \ x, y \in A$$

and

$$\|f(xy) - xf(y) - yf(x)\|_B \le \frac{\|x\|}{\|y\|^r}, \ r < 1 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta: A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \frac{1}{3 - 3L} \frac{\|x\|}{\|y\|^r}.$$

Proof. In the Theorem 4.7, if we choose

$$\theta(x,y) = \frac{\|x\|}{\|y\|^r}, \ r > 0 \text{ for all } x, y \in A,$$

$$\zeta(x,y) = \frac{\|x\|}{\|y\|^r}, \ r < 1 \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^r}, m > 1, r > 0.$

Corollary 4.11. Assume that r < 1, 0 < m < 1, and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le ||x|| ||y||$$
 for all $x, y \in A$,

 $||f(xy) - xf(y) - yf(x)||_B \le ||x||^r ||y||^r, \ r < 1 \ for \ all \ x, y \in A.$

Then there exists a unique derivation $\delta: A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{1}{3 - 3L} ||x||^2.$$

Proof. In the Theorem 4.7, if we choose

$$\begin{split} \theta\left(x,y\right) &= \|x\| \|y\| \ \text{ for all } x,y \in A,\\ \zeta\left(x,y\right) &= \|x\|^r \|y\|^r, \ r < 1 \ \text{ for all } x,y \in A,\\ \end{split}$$
 then the result will be achieved when $L \geq m^2, \ 0 < m < 1.$

Corollary 4.12. Let m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{\|x\| \|y\|}{\|x\|^r + \|y\|^r}, \ r > 1 \ for \ all \ x, y \in A$$

and

$$\|f(xy) - xf(y) - yf(x)\|_{B} \le \frac{\|x\| + \|y\|}{\|x\|^{r} + \|y\|^{r}}, \ r > 0 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta: A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{1}{3 - 3L} \frac{||x||^2}{2||x||^r}$$

Proof. In the Theorem 4.7, if we choose

$$\begin{split} \theta\left(x,y\right) &= \frac{\|x\|.\|y\|}{\|x\|^r + \|y\|^r}, \ r > 1 \ \text{ for all } x,y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\| + \|y\|}{\|x\|^r + \|y\|^r}, \ r > 0 \ \text{ for all } x,y \in A, \end{split}$$

then the result will be achieved when $L \ge \frac{1}{m^{r-1}}, m > 1, r > 1$.

Theorem 4.13. Let A, B be two Banach algebra spaces, and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in R$, suppose functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that for all $x \in A, m \in \mathbb{R}$, there exists L < 1, where $\theta\left(\frac{x}{m}, \frac{x}{m}\right) \leq mL\theta(x, x)$,

$$\|D_f(x,y)\|_B \le \theta(x,y) \quad for \ all \ x,y \in A, \tag{4.16}$$

$$\|f(xy) - f(x)f(y)\|_{B} \le \zeta(x,y) \text{ for all } x, y \in A,$$
 (4.17)

$$\lim_{n \to \infty} 3^{2n} \zeta\left(\frac{x}{3^n}, \frac{y}{3^n}\right) = 0.$$
(4.18)

Then there exists a unique homomorphism $H: A \to B$ such that

$$\|f(x) - H(x)\|_{B} \le \frac{1}{1 - L}\theta(x, x).$$
(4.19)

Proof. This theorem can be demonstrated using the same way as in the Theorem 4.1. \Box

Corollary 4.14. Let m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le ||x||^r + ||y||^r, \ r > 0 \ for \ all \ x, y \in A,$$

$$||f(xy) - f(x)f(y)||_B \le ||x||^r \cdot ||y||^r, \ r > 1 \ for \ all \ x, y \in A.$$

Then there exists a unique homomorphism $H: A \to B$ such that

$$||f(x) - H(x)||_B \le \frac{2}{1-L} ||x||^r.$$

Proof. In the Theorem 4.13, if we choose

$$\theta(x,y) = \|x\|^r + \|y\|^r, \ r > 0 \ \text{ for all } x, y \in A,$$

$$\zeta(x,y) = \|x\|^r \cdot \|y\|^r, \ r > 1 \ \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^{r+1}}, m > 1, r > 0.$

Corollary 4.15. Assume that m > 1 and $f : A \to B$ be an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le \frac{||x||^r}{||y||}, \ r > 0 \ for \ all \ x, y \in A$$

and

$$\|f(xy) - f(x)f(y)\|_B \le \frac{\|x\|^r}{\|y\|}, \ r > 3 \ for \ all \ x, y \in A.$$

Then there exists a unique homomorphism $H: A \rightarrow B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{1 - L} \frac{||x||^r}{||y||}.$$

Proof. In the Theorem 4.13, if we choose

$$\theta(x,y) = \frac{\|x\|^r}{\|y\|}, \ r > 0 \quad \text{for all } x, y \in A,$$

$$\zeta(x,y) = \frac{\|x\|^r}{\|y\|}, \ r > 3 \quad \text{for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^r}, m > 1, r > 0$, because

$$\frac{\left\|\frac{x}{m}\right\|^r}{\left\|\frac{x}{m}\right\|} \le mL\frac{\left\|x\right\|^r}{\left\|x\right\|},$$

that is,

$$\frac{1}{m^r} \leq L$$

and

$$\lim_{n \to \infty} 3^{2n} \zeta \left(\frac{x}{3^n}, \frac{y}{3^n} \right) = \lim_{n \to \infty} 3^{n(3-r)} \left(\frac{\|x\|^r}{\|y\|} \right) = 0.$$

Corollary 4.16. Assume that m > 1 and $f : A \to B$ is an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le \frac{||x||}{||y||^r}, \ r < 2 \ for \ all \ x,y \in A$$

and

$$||f(xy) - f(x)f(y)||_B \le \frac{||x||}{||y||^r}, \ r < -1 \ for \ all \ x, y \in A.$$

Then there exists a unique homomorphism $H: A \rightarrow B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{1 - L} \frac{||x||}{||y||^r}$$

Proof. In the Theorem 4.13, if we choose

$$\begin{aligned} \theta \left(x, y \right) &= \frac{\|x\|}{\|y\|^r}, \ r < 2 \ \text{ for all } x, y \ \in A, \\ \zeta \left(x, y \right) &= \frac{\|x\|}{\|y\|^r}, \ r < -1 \ \text{ for all } x, y \ \in A, \end{aligned}$$

then the result will be achieved when $L \ge \frac{1}{m^{r+1}}$, m > 1, r < 2.

Corollary 4.17. Let r > 1, m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$|D_f(x,y)||_B \le ||x|| ||y||$$
 for all $x, y \in A$

and

$$||f(xy) - f(x)f(y)||_B \le ||x||^r ||y||^r, r > 1$$
 for all $x, y \in A$
Then there exists a unique homomorphism $H: A \to B$ such that

unique homomorphism
$$H : A \to B$$

 $\|f(x) - H(x)\|_B \le \frac{1}{1-L} \|x\|^2.$

Proof. In the Theorem 4.13, if we choose

$$\theta(x,y) = \|x\| \|y\| \text{ for all } x, y \in A,$$

$$\zeta(x,y) = \|x\|^r \|y\|^r, \ r > 1 \text{ for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^3}$, m > 1.

Corollary 4.18. Let m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$||D_f(x,y)||_B \le \frac{||x|| \cdot ||y||}{||x||^r + ||y||^r}, \ r < 3 \ for \ all \ x, y \in A$$

and

$$\|f(xy) - f(x)f(y)\|_B \le \frac{\|x\| + \|y\|}{\|x\|^r + \|y\|^r}, \ r < -1 \ \text{ for all } x, y \in A.$$

Then there exists a unique homomorphism $H: A \rightarrow B$ such that

$$||f(x) - H(x)||_B \le \frac{1}{1 - L} \frac{||x||^2}{2||x||^r}.$$

Proof. In the Theorem 4.13, if we choose

$$\begin{aligned} \theta\left(x,y\right) &= \frac{\|x\| \cdot \|y\|}{\|x\|^r + \|y\|^r}, \ r < 3 \ \text{ for all } x, y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\| + \|y\|}{\|x\|^r + \|y\|^r}, \ r < -1 \ \text{ for all } x, y \in A, \end{aligned}$$

then the result will be achieved when $L \ge m^{r-3}, m > 1, r < 3.$

Theorem 4.19. Let A, B be two Banach algebra spaces, and $f : A \to B$ be an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$, suppose functions $\theta : A^2 \to [0, \infty)$ and $\zeta : A^2 \to [0, \infty)$ such that for all $x \in A, m \in \mathbb{R}$, there exists L < 1, where $\theta\left(\frac{x}{m}, \frac{x}{m}\right) \leq mL\theta(x, x)$,

$$|D_f(x,y)||_B \le \theta(x,y) \text{ for all } x, y \in A,$$

$$(4.20)$$

$$\|f(xy) - xf(y) - yf(x)\|_{B} \le \zeta(x, y) \text{ for all } x, y \in A,$$
(4.21)

and

$$\lim_{n \to \infty} 3^{2n} \zeta\left(\frac{x}{3^n}, \frac{y}{3^n}\right) = 0.$$
(4.22)

Then there exists a unique derivation $\delta : A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \theta(x, x).$$
(4.23)

Proof. This theorem can be demonstrated using the same way as in the Theorem 4.7. \Box

Corollary 4.20. Assume that m > 1 and $f : A \to B$ is an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \|x\|^r + \|y\|^r, \ r > 0 \ for \ all \ x, y \in A$$

and

$$||f(xy) - f(x)f(y)||_B \le ||x||^r . ||y||^r, \ r > 1 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{2}{1-L} ||x||^r.$$

Proof. In the Theorem 4.19, if we choose

$$\begin{split} \theta \left(x,y \right) &= \| x \|^r + \| y \|^r, r > 0 \ \ \text{for all} \ x,y \in A, \\ \zeta \left(x,y \right) &= \| x \|^r. \| y \|^r, r > 1 \ \ \text{for all} \ x,y \in A, \end{split}$$

then the result will be achieved when $L \ge \frac{1}{m^{r+1}}, m > 1, r > 0.$

Corollary 4.21. Assume that m > 1 and $f : A \to B$ is an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$D_f(x,y)_B \le \frac{\|x\|^r}{\|y\|}, \ r > 0 \ for \ all \ x, y \in A$$

and

$$||f(xy) - xf(y) - yf(x)||_B \le \frac{||x||^r}{||y||}, \ r > 3 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta: A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{1}{1 - L} \frac{||x||^r}{||y||}$$

Proof. In the Theorem 4.19, if we choose

$$\theta(x,y) = \frac{\|x\|^r}{\|y\|}, \ r > 0 \quad \text{for all } x, y \in A,$$

$$\zeta(x,y) = \frac{\|x\|^r}{\|y\|}, \ r > 3 \quad \text{for all } x, y \in A,$$

then the result will be achieved when $L \ge \frac{1}{m^r}, m > 1, r > 0.$

Corollary 4.22. Assume that m > 1 and $f : A \to B$ is an odd mapping, $f(0) = 0, f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{\|x\|}{\|y\|^r}, \ r < 2 \ for \ all \ x, y \in A$$

and

$$\|f(xy) - xf(y) - yf(x)\|_B \le \frac{\|x\|}{\|y\|^r}, \ r < -1 \ \text{for all } x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{1}{1 - L} \frac{||x||}{||y||^r}.$$

Proof. In the Theorem 4.19, if we choose

$$\begin{split} \theta\left(x,y\right) &= \frac{\|x\|}{\|y\|^r}, \ r < 2 \ \text{for all } x,y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\|}{\|y\|^r}, \ r < -1 \ \text{for all } x,y \in A, \end{split}$$

then the result will be achieved when $L \ge m^{r-1}, m > 1, r < 2.$

Corollary 4.23. Let r > 1, m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A, \lambda \in \mathbb{R}$ such that

$$|D_f(x,y)||_B \le ||x|| ||y|| \text{ for all } x, y \in A$$

and

$$\|f(xy) - xf(y) - yf(x)\|_{B} \le \|x\|^{r} \|y\|^{r}, \ r > 1 \ \text{for all } x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$||f(x) - \delta(x)||_B \le \frac{1}{1 - L} ||x||^2.$$

Proof. In the Theorem 4.19, if we choose

$$\theta(x, y) = \|x\| \|y\| \text{ for all } x, y \in A,$$

$$\zeta(x, y) = \|x\|^r \|y\|^r, \ r > 1 \text{ for all } x, y \in A,$$

will be achieved when $L \ge 1$, $m \ge 1$

then the result will be achieved when $L \ge \frac{1}{m^3}, m > 1$.

Corollary 4.24. Let m > 1 and $f : A \to B$ be an odd mapping, f(0) = 0, $f(\lambda x) = \lambda f(x)$ for all $x \in A$, $\lambda \in \mathbb{R}$ such that

$$\|D_f(x,y)\|_B \le \frac{\|x\| \|y\|}{\|x\|^r + \|y\|^r}, \ r < 3 \ for \ all \ x, y \in A$$

and

$$||f(xy) - xf(y) - yf(x)||_B \le \frac{||x|| + ||y||}{||x||^r + ||y||^r}, \ r < -1 \ for \ all \ x, y \in A.$$

Then there exists a unique derivation $\delta : A \to B$ such that

$$\|f(x) - \delta(x)\|_B \le \frac{1}{1 - L} \frac{\|x\|^2}{2\|x\|^r}.$$

Proof. In the Theorem 4.19, if we choose

$$\begin{aligned} \theta\left(x,y\right) &= \frac{\|x\| \cdot \|y\|}{\|x\|^r + \|y\|^r}, \ r < 3 \ \text{ for all } x, y \in A, \\ \zeta\left(x,y\right) &= \frac{\|x\| + \|y\|}{\|x\|^r + \|y\|^r}, \ r < -1 \ \text{ for all } x, y \in A, \end{aligned}$$

then the result will be achieved when $L \ge m^{r-3}$, m > 1, r < 3.

5. Conclusion

We have come to conclusion that the approximate of homomorphism and derivation of additive functional equation in Banach algebra. Moreover, we can get other results in various spaces and for many other functional equations

References

- P. Agilan, K. Julietraja, M.M.A. Almazah and A. Alsinai, Stability analysis of a new class of series type additive functional equation in Banach spaces: direct and fixed point techniques, Math., 11 (2023), 887.
- [2] P. Agilan, K. Julietraja, B. Kanimozhi and A. Alsinai, Hyers stability of AQC functional equation, Dyn. Contin. Discret. Impuls. Syst., Ser. B: Appl. Algor., 31 (2024), 63–75.
- [3] N.F. Al-Mayahi, Banach algebra valued measure, J. Kufa Math. Comput., 1 (2010), 26–29.
- [4] S.H. Al-Shybani, S.M. Vaezpour and S. Mahmood, Generalized Hyers-Ulam stability of mixed type additive-quadratic functional equation of random homomorphisms in random normed algebras, J. Phys.: Conf. Ser., 1296 (2019), 032004.

 \square

- [5] S. Alshybani, Fuzzy stability of sextic functional equation in normed spaces (direct method), Ital. J. Pure Appl. Math., 46 (2021), 984–988.
- [6] T. Aoki, On the stability of linear transformation in Banach space, J. Math. Soc. Japan, 2 (1950), 64–66.
- [7] Y.J. Cho, C. Park, Th.M. Rassias and R. Saadati, Stability of functional equations in Banach algebras, Springer, New York, London, 2015.
- [8] M. Dehghanian and Y. Sayyari, A fixed point technique to the stability of Hadamard D-hom-derivations in Banach algebras, J. Math. Slovaca, 74 (2024), 151–158.
- [9] H. Dutta, V. Govindan, C. Park and R. Vadivel, Stability of some advanced functional equations in various spaces, Studies in Systems, Decision and Control, Springer, Poland, 2014.
- [10] D.H. Hyers, On the stability of linear functional equations, Proc. Natl. Acad. Sci. USA, 27 (1941), 222–224.
- [11] V. Keshavarz, J.R. Lee and C. Park, Orthogonal Pexider hom-derivations in Banach algebras, Nonlinear Funct Anal. Appl., 28(1) (2023), 95–105.
- [12] Y.H. Lee and S.M. Jung, Stability of cubic-additive functional equations, Nonlinear Funct Anal. Appl., 25(1) (2020), 35–54.
- [13] A. Najati and M.B. Moghimi, Stability of a functional equation deriving from quadratic and additive functions in quasi-Banach spaces, J. Math. Anal. Appl., 337 (2008), 399– 415.
- [14] Th.M. Rassias, On the stability of the linear mapping in Banach space, Proc. Amer. Math. Soc., 72 (1978), 297–300.
- [15] Th.M. Rassias, Handbook of Functional Equations: Stability Theory, Springer, New York, Heidelberg, Dordrecht, London, 2014.
- [16] N.D. Rheaf and S. Alshybani, Some new topological structures in lattice random normed spaces, Nonlinear Funct. Anal. Appl., 29 (2024), 1095–1107.
- [17] S.M. Ulam, A collection of mathematical problems, Interscience Publishers, New York, 1960.
- [18] N. Zuhair, Pointwise estimates for finding the error of best approximation by spline, positive algebraic polynomials and copositive, Iraqi J. Sci., 63 (2022), 4967–4986.